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Until the 4 is closed up — 1oy anosw 7Y

OVERVIEW
The X913 states that according to ywi " the NM%°ax becomes effective when the
o9 is closed up. nvOIN discusses at length the meaning of 521,

= PINN FTINAY DIWIP 139N POV PIN 2D 1N HDINT 77U YD NIPN NNoa
“''"w, in many places, explains that ™' is the cover of the coffin, and 'po17'

are the side boards of the coffin -
- 299992 W9 1T PYI PYY POYT Y9N BY Y PYT NIP

And the sideboards are called 217 because the 3 ‘knocks’ on the P97 (P17
means knocking), and the 719y offered a similar translation.

nvoIN asks:
= NN 22X DY 13991 PAD (ow 3,00 mava) INNY I P92 IINRT DN 129D NYP)

And the n''7 has a difficulty with this translation, for 7% 12 91¥9X "1 (who was a

119) said in a XN in n»w % P92, we would skip on top of the coffins to greet

SR 2397, etc. -
= (ow1 3,97 PN AVINNI 9IYNA 1329NTI 3HANa NV 2 an) 5910 XYM 1’)5‘1): 9 TN

But how were they allowed to skip over the coffins, since the P17 %933 (of a
coffin) is N»u» as a ‘tent’ as the X3 states in 2w W P70 —

mooin asks an additional question:
= POY1 YD MAIY SNTYN 239 DY YWINT 1,2y ow) NYPNN NNNA PIDAT NI

And furthermore V" in mwpni mwa P9 derives from the 709 of 7w "D Wy,

that it includes the 5171 9933 that they are x»vn (if one touches them) —
= 5TWN 239 HY 1IN PIN XD DIVIPN VIV

However, according to s'''w1 interpretation, the coffin is not ‘on the face of
the field’, so how can we derive pp1T1 920 nXmL, which is a part of the coffin, from the words

! moo1n will discuss the meaning of the word 7.
2 The My writes that the 70 is the stone covering the grave and P17 are two stones on the side of the grave. It
seems that according to the 717¥ the n» was not buried in a coffin but they put stones overhead and by his sides.
3 One becomes ¥nv by 2mMX N whether the Xav 127 hovers over him or whether he hovers over the Xnv 127.
According to *"wA that the 99 is the cover of the 117X, when they skipped over the 117K, they were skipping over the
591, and so they became Ry through 2mK nkmw, which is forbidden to a 172.
4Tt is on X,2y.
3> The 109 in 10,0° [NP] 12772 reads; 131 XYY 722 I OTR O¥YA IR NP2 IR 2-5002 77w 219758 ¥0-wK 900
% A coffin is generally buried in the ground and is not 77w 5"¥.
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77wn 8"y, which indicate something which is open to the air.

Mon justifies >"wo:
= WYDY P9I KDY MY [WI91] 97WH9D 3 PYI2I0NIN 11793929 290 MIIN)

And pmamxin 797 9''7 said that according to >''w9 we derive from 77w 5"V to

include a p2171 713, which became separated from the coffin and is lying ‘on the field’
that it is Xnon -
= YDWD NIN NRVNT NTWN 29 Dy 1992910 NO4

For we only include from 77w 2"y that the P97 5213 is N»w», when it is

separated from the coffin and it is in the open -
- DN NPVN XD YPIP 2N DV PV NINY THIya YaN

However, when the po7 %9 is still hidden and buried in the ground it is

nullified (from being Xnvn) as part of the ground and is not 2782 R»wR, This
explains the 7w7 of ¥"7 of 77WA 2"V -
= 75199N %2) DY 13950 DIIIT NN V29V 2) INNX RNYM

And now according to this explanation, that X723 of ‘we were skipping over the

nR’ will be properly understood, because those M1 were buried, therefore they are
not K.

mooin offers an alternate solution to explain 'MNIR 3"y D°3%77 W»0'"
= DN NNVN HHNT 22 DY IN DISINND YW NI

And additionally there are those who answer (the first question of 1x772) that

even though a 91 is 782 N2 -
= 9912 DNRNY NINNVDY AJTY P91 OIPNI Yon

Nevertheless the 0°170 were permitted to jump over and be X»u» themselves

from the 59 -
= Y9y 9N 1993 PN 859y NYIN 1) PRV ANV 55 (1 p9) MINNY NN NINT

For we learnt in a Xn®»2 in nyw noon, ‘any a8 for which a =911 is not

required to shave off his hair for it, a 372 is not prohibited from defiling himself to
it.

mooIN rejects this answer:
= P79 N 91 PN OF NP2 XNT NN HYIIYNT ON 1929 9IN)

And the n''1 replied that this Xn>71 is erroneous, for we know that a 9°11 is not

"1t would seem that they were 3771 over the graves in which there were mnax. However *"w1 there in 7"7 m372
AR, writes IR 1XR2; which indicates that the M11IX were not buried.
8 There are certain MxmW (including P91 5913 NXMW) that even if a 7711 became Xnv with these Mx™W he does not
stop his mM7°11 and does not cut off his hair (but continues with his n17°11). See X,71 771,
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noan if he comes into contact with only a n g3 of blood -
= 9150 9111 1N9Y (owi x,m 97 9T )INTD

As we learnt in a mw» in 9°11 ndon, and nevertheless a 3715 is prohibited from
touching a 07 n°y27. Therefore that was an erroneous ¥n»"2.

mooIn has an additional question on >"w95 that P17 Y913 are part of the 1IX:
- DN MY I3 WY 937 93 (3,10 41 1929983 NOINT YDA 1IN

And the n"1 asked additionally, that we learnt in a Xn"2 in °23Y7°» noon, n"7

said anything which has within it the breath of life (it is alive) -
— 105595 9259 913 XY 1999 PYIY PN

We do not make it as a ¥»13 for a grave, etc. -
- ©90 S99 PIN M0 MUY 797 33) DI0NPN WINA

However according to >''w=, is it usual to make the cover of a coffin from
animals; why is this rule even taught, since it is so unlikely to happen —

N1B0IN answers:
- 0990 55¥a1 PN DI MYYY 797 PRT 32 5Y R 9115 Y

And one can say; even though it is unusual to make coffin covers from

animals -
- 99Y Y299 WINTY ©7UN 1Ha 59999 NYAY NYT JNIUN D927 N1 DY) Yan

Nevertheless we find many unusual cases which the X923 discusses in order to

study and receive a reward, for studying even the most unusual circumstances -
= 1192 PHNN N INNYPN 1NN INNIKIN NTIN INYDA (x,9 pon) NYPNN PI92 12999NT

As the X773 queries in wpni? pap; ‘a weasel swallowed the fetus in the womb,
and took the swallowed fetus out of the womb (while it was inside the weasel)
and then placed the swallowed fetus back inside the womb and coughed it out

into the womb and then the fetus left the womb on its own; what is the ruling
regarding whether this fetus is a 017 7w (since initially it exited the womb encased by the weasel
and did not touch the ann7 °2m2). The X3 there asks another (strange) query -

= 0YIYY N NOY 29 DY 4N 1) DY NN NYM 0NN Y PraTh

He attached the openings of two wombs to each other and the fetus emerged
from one womb into the other womb; what is the ruling whether the second
animal is considered to have had a an7 w5 (since it emerged into the world from
the onn of the second animal); the X3 asks these unusual queries even though
these two cases will never happen, nevertheless the X3 there discusses it, similarly the

9 See 1a77n 71"7 2,0° M>72 'o1n and the X"wAn there.
10 This means that if an animal is used as a 921 it is not X»avn as a Y21,
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X7m3 can discuss regarding using a °n 9¥2 as a 97,

nooIn offers his translation of P97 571
= YY1 JAN NYAY NANN 13991 HDINT W91 0N 122N

And the n''1 explained that %1 is a tombstone, which is a large stone -
= (1203 mwxya) 2HARND NN VYN 29NT JaARN DY 7Y YD) PYS

And the word %913 applies to a stone as it is written, ‘and they would roll the

stone’; using the term 791 for a [large] stone -
- 181 YV 19399 NN TYNIY HNN DA XNV 1D D217

And P27 are two smaller stones one at the head and the other at the foot of the
712XN (to support the 73¥n) —

mooIn explains the X3 of 0°°1 M9 12 W 72771 93 Y PR according to his interpretation:
= 12509 9NN 937 IN NNN2 OV PTIRYN NININ NANNN PRYI DNIYD)

For occasionally when the 772x» is not ready, people place there an animal or
something else for a marker, to show there is a grave here —

MooIN explains the case of MR 3"V 117 PR
= PNV 1PN XD NND HNNMY NAYN BV NN KD PIJT1NIT NXINNI)Y

And regarding that story of '1a%7»', there was no ;7237 (or 9713) by those MR,

and they also did not become X%t because they hovered over the dead body in the
coffin -

= BAavy nmo N3 ¥ MNIN 2199
Since most N1119K8 have an opening of a 179w, which does not allow the 8™ to leave the
77X, Therefore they did not become Xnv. !4

mooIN anticipates a difficulty on n"99:
- 159280 OV PRYI MZPAN N NNONND YWIN? %290 NYPN X

! Presumably the large 72xn was called 9913 because it needed to be rolled on account of its heaviness.
1213 mos [R¥™].
13 The rule is if there is a covering over the nn, it depends; if there is no space of a ndv between the n» and the
covering, the xmw of the N1 ‘bursts’ through the covering (71X) and is Xnv» anything above the nn. However if there
is a nov of space between the covering and the n»n, the 7XmY is confined in that space and anything above the
covering does not become Xnv.
14 However according to >"wA that the 90 is the covering of the coffin and 57 is Xavn, they would have become Xnb
by hovering over the 791 of the coffin.
155" ruled that m?°ax begins 97131 ano>wn. According to "1 that 7213 means the coffin, the M?°ax begins as soon as
the coffin is covered; however according to the n"1 that 771 is a 72x¥n, what happens when they do not put up a 72%»
immediately at the time of burial, when does the m?"ax begin? See ‘Thinking it over’.
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And you should not ask; according to ¥ '3 when does the n9°ax begin
when there is no 72x1?!

mooin replies, that is not difficult -
= 199227 Y9N 9111 23T Y vrY

For we can say that when the gravediggers turn their faces away from the grave
(they finished the burial process), that is when the M%°ax begins if there is no 727 -
= 111999N 29911 Y919 N2V N2 YDIN DT ININT (3,23 97 JOP TYINA 199K TS

As X211 said in p''v; ‘that those who do not follow after the deceased to the

cemetery, as soon as they turn their face away (and begin returning home) the Mm>°ax
begins for them’.

n»doIN asks:
= /1 165992 MYNNRT RNODINA NINT DN 13929 VIV DY PN 13%39Y NYP)

And the >''% has a question on the explanation of the n''s; for we learnt in a

XnooIn of M in the fourth pas -
- 4aPY Y91 INUYY DINAV NYIIN NPAIN TY MY DAN SNV NN %29 9N

>''9 said; ‘two large stones each the size of four 2'npv that he made both of

them into a %91 for one grave -
- NNV MIYN 232 HY AN 1IN HNR NV VRNV DNINY 532 Y H>ANRNN

One who hovers over either of them is X»w; if one of them was removed,

whoever is 98%% on the second stone is =370 -
- N¥Y 7197 ANNIVY YOIV 291

Since the nX™w has a way to exit the 72p’; in the air space that was provided by

removing one of the 21 stones. This concludes the Xnoon. MO asks -
- 1391 9329 V1929 XYY 797 TV N

What meaning is there, that there is ‘a way to exit’ according to the n''=».

The " has another question on n"=5:
= 19942195 189 XD NDON 29¥2 NNY TANI NYWYN NN 7) P9 910 MDINT RNODINI)Y

And in the end of the third pa2 of M®RT XM>2IN we learnt in a Xn»12; there

16 The w"w" amends this to read A7 "3 7792 (it is in '3 p9).
17 He is 92m7 9v 2nxn.
18 According to >"wA that the 520 is the cover of the coffin, the Xn501n is understoodn since one half of the cover is
removed, we say that the Xm0 leaves through that half opening and if one was X% on the covered part he is 1.
However according to the n" that 21 is a 72¥n, what difference does it make if part of the 72%» is missing; how is
there a way for the IXn to exit, since the nn is still covered by the 117x?!
19 They wanted to bring the nos j27p that day and did not want to become X»v.
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was a story with someone who died on 192 29y and the people did not want to
bury him -

= DYWIN 1NNAPI NINAN DIVWIND 1IVWN HDNA HaNN 19V 2°09WHN 1019
So the women entered the room where the n» was, and tied the rope to the %1,
and brought the rope outside. The men who were outside dragged the n» with the

rope to the burial place and the women buried him -
- 2999 1PN YUY DIYVIND 19D

And the men went and brought their o2 3397 that evening. This concludes the
XnooIN.
= 591N NN YINAN DIVINRD IUNY 1Y 192195 ©IWIN PN 11 XYY ¥nwun

It seems that the women could not bury him until the men outside would pull

the 9135 now comes the question on the n" -
- HDON NN 1Y NASN N2 IMIAP NY N1Y 128N NN Y913 BN

And if 59 is a 7ax», why did not the women bury him without a 723% until after

1oD (the women were able to bury him as the story indicates, why did they need the 571) -
179 95 725 7PN AR HY NNV 39D DIVIPN YWD PN MHDI NIN INTI NIN

Rather it is like >''29 that the 51 is the covering of the coffin and since it was

made of stone it was so heavy that the women could not take it to the cemetery (but once it
was there they were able to bury him).

SUMMARY

According to >"w1 the 971 is the lid of the coffin and the p217 are its sideboards,
while according to the n"9 the 971 is the 172¥7» and the P17 are the headstone and
the footstone of the 72xn.

THINKING IT OVER
According to the n"1,?! what is the meaning of 99137 ano>w 7¥; if the Y713 is the 72¥7
it is never covered up?!

20Tt would seem that o°w1 are MWD from bringing a mod 127p.
2! See footnote # 15.
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